232 Lecture supplement 13

27. A dead battery is charged by connecting it to the live battery of another
car with jumper cables (Fig. P28.27). Determine the current in the starter and in
the dead battery.
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Figure P28.27
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Solving simultaneously,
L =| 0283 A downw ard | in the dead battery

and I =|171A downward | in the starter.

The currents are forward in the live battery and in the starter, relative to normal
starting operation. The current is backward in the dead battery, tending to charge it up.



